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Please Enter the Output Fie Name
(B ~ dx s s % 2 46 )

Input permeability condition of TOP & BOT boundary
(ﬁa?] B TR 2 pokix i D TDR=FKE R 5 IMP=7 %Ki )

Input number of layer & ALPMAX & Depth of Water Table
(ﬁg?] >A R BB o B B s AR TORIRR)

Input TUW,HL,NZ,CV,PK of Layer: J
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Input total number of e-P data points of Layer: J
(ﬁa?]/\ % J 2k e-P ¥ sz ghik)

Input No. “I” e & P data of Layer:J
(ﬁa?]/\ FJ2 EkePwasy [ 2z iih)

Input number of total data points of TL-HF curve & UWF
(ﬁ»wﬁﬁﬁiﬁ%&u&?ﬁiﬁiﬁﬁﬁ)

Input No. “I” data of TL & HF
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luput total number of output time
(B~ 3t B R R LR 2 R )

Input No. “I” time of output time
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